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Integrated Math 2

Checkpoint 5B

Create a rough sketch of each function. Label any intercepts and write whether it’s an increasing or decreasing function.
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Create a rough sketch of each function. Describe the end behavior using the notation below:
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Graph the first function and then graph the second function. Describe what changes from the first to the second.
7) 1! Function: y = (0.8)" ; 2" Function: y =(0.2)"

3
9 _
\ ’ e )
> L= a5 4oy move tv The rig ht

P\ \ '\J]C {':’;‘.iﬂ A IS )\ = ) 14 as -j NS 1 (.]
¥ \ = C ] ,l n _lr\_ ks .:."D
= \ : on % 'cn-t'._a/\ , the groph e + he un A
\ o
lot+ Les ey, T other wo .’_\3] the

Ydeeays” a t
e t.e'\.'.“r_,k;\uf Theon y = voky €8

Y -vatings ¢ lecrease ww

oT 1% Juvackon.

Y Retk funchons ane

Exp 'Decc-.ﬂ Funchans v



8) 1* Function: y =(3)" ; 2" Function: y = (5)"
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9) 1 Function: y = (_M)Jr ; 2" Function: y =(0.5)"
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Determine the equation of the graphed parabola. Write it in vertex form: y = (x—h)> +k where the vertex is (h, k).
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Graph the system of equations and label the;glﬁtﬁions.
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